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CPP-1118

M.Com. (Previous) Examination, 2022

ACCOUNTANCY AND BUSINESS STATISTICS

Paper - IV

(Cost Accounting and Cost Control)

Time : 3 Hours | [ Maximum Marks : 100
Section—-A (Marks : 2 x 10 = 20)
Note .— Answer all ten questions (Answer limit 50 words). Each question carries

Note —

M —

2 marks.

(@us—3) (3k : 2 x 10 = 20)
Tfi T YAl B S T (ST 50 ) | FAF YA 2 3F HT T
Section-B (Marks : 8 x 5 = 40)

Answer any five questions out of seven (Answer limit 200 words). Each
question carries 8 marks.

(Tus-a) (31 : 8 x 5 = 40)
T # 9 R Ui T & SW S (SW-EE 200 9E) | TAE Y9 8 Ik
H FI

Section—C (Marks : 20 x 2 = 40)
Answer any two questions out of four (Answer limit 500 words). Each
question carries 20 marks.

(T@ue-|) (3 : 20 x 2 = 40)
IR # ¥ for<l S 9o & S ST (|- 500 755) | TOF YA 20 S H
7
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Section-A
(Tus-3)
1. (@ Name any four techniques of Costing.
T &1 HE AR FfafeE ade|
(i) What is meant by ‘Research and Development Cost’ ?
‘o T o ara’ @ e ae § 2
(ii1) What do you mean by Process Costing ?
wfsran @ faior dfq & o = Twew § 2
(iv) Explain the meaning of Job Costing.
Sy @ faRe fafa @ ee ST
(v)  What is meant by Performance Budgeting ?
froarea ssfed =1 aRwfe sifsw)
(vi) What is meant by the term ‘Variance Analysis’ ?
TR fawemm’ & F0 aed § 2
(vil) What is meant by Cost Report to Management ?
TerE 1 ARG Yfdaed § w1 ARE ¥ ?
(viii) Explain the meaning of Absorption Costing.
ST @ fAwier w1 et SmEu |
(ix) What are Cost Control Accounts ?
UCEERELRC S I
(x)  Explain the meaning of ‘Integrated Accounts’.

‘THFa T@' w1 7Y gEEEU |
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Section-B
(@us-—o)
2. How the unit of cost is determined in case of Transport Costing ?

itered g fuftor Gfg & Sfaria 9fd g @a f/e YR @ i STl § 2

3.  What do you mean by Inter-process Profit ? How is actual profit calculated ?

FA-YTohaT oY ¥ A9 &1 GHId & 7 ardiaeh oY 1 Uehe ThE YRR T St
7?2

4. The budgeted output of a company at the optimum capacity 6,400 units per

annum is given below :

TH FFA H AT A 6,400 THREAT GhaaS H S AN e ©

Variable Cost )
Power 1,440
Repairs 1,700
Misc. Expenses 540
Direct Material 49,280
Direct Labour 1,02,400
Fixed Cost 20,688
Total Cost 1,76,048

Prepare a flexible budget for production target of 3,200 and 4,800 units per
annum. Assuming the selling price per unit at ¥ 40, indicate the effect on net

profit. Administration, selling and distribution expenses continue at ¥ 3,600.

3,200 T 4,800 SHIZAl & AR Scaed & folw S=eiiel seie 9gR hifere | 9fd 3ehrs
fosra e T 40 9fT ST AFA U A1 W NG I SATA IS | F9mEH, fosea qen oo
=1 T 3,600 F WA ¥
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5. The following figures are presented to you :
frefafea e e ¥&d T :
Year Sales Profit/Loss
2018-19 % 2,00,000 % 10,000 (Loss)
2019-20 % 5,00,000 % 20,000 (Profit)
Calculate :
gfamorr wifsw
(1) P/V Ratio
(ii) BEP
(ii1)  Variable Cost for each year
(iv)  Sales to make a profit of ¥ 40,000
6. Classify the cost reports enlightening on its objects.
AT FfqaeAl & Se¥d W YEhIYT SIoid GU SehT SIS0 ThiTSTT |
7. A summary of the Trading and Profit and Loss Account of The Modern
Company Ltd., for the year ended 31st March, 2021 is as follows :
S AreT wert fafies #1 31 A, 2021 1 HA@ B A 99 % AT T ed-gl
T HT RN AR YR ¥
To Material consumed 54,800 | By Sales (2,400 units) 1,20,000
To Wages 30,200| By Finished Stock (80 Units) 3,200
To Factory Expenses 16,600 By Work-in-Progress
To Administration Expenses 7,648 Materials 1,280
To Selling and Distribution Exp. 9,000 Wages 720
To Preliminary Exps. Factory Exp. 400 2,400
(written off) 1,200| By Dividend Received 360
To Net Profit 6,512
1,25,960 1,25,960
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The company manufactures a standard unit. In the cost account factory
expenses have been allocated to the production at 20 percent of prime cost.
Administration expenses as ¥ 3 per unit on units produced and selling and
distribution expenses at ¥ 4 per unit sold. You are required to prepare a costing
profit and loss account of the company and to reconcile the profit disclosed

with that shown in the financial accounts.

FHEAT JHITI Sh1gAl 1 SCAET HIl & | AN ol § HREMT =4, T AR 1 20%
T TRIEA =9 % 3 Wi s Sciad seisal W foent T foaaor = % 4 i fowa i
TE 3T, STHIa {3 T3 ¥ 1 T nTd eny-=I S ssd qen faxdia gt g s

T Y ¥ e AW Sy

8.  Describe the pre-requisites of Integral Accounting System.

TP oRE YO W S feoro fetfer |
Section—-C
(TUs-7)

9. Mr. Panna Lal commenced a contract on 1st April, 2020. The total contract was
for ¥ 5,00,000 (estimated by the contractee) but it was accepted by Mr. Panna Lal
at 10% less. It was decided to take to the credit of profit and loss account that
proportion of estimated profit on cash basis which the work completed for to the

total contract. Actual for the year 2020-21 and estimates for 2021-22 are given
ahead :

ot wTTene | 1 3T, 2020 1 Tk I T HE YRE A1 I 1 H/A o7 T 5,00,000
(SHTN gRT STAIA) o Sefeh 9 T=enel 510 39 10% %9 Hed R HE HT SR
foran | o8 Tafy=a fopren o T et o a1 ST ST ST Qe eY-31 @d § ST A1
TH T THS WG & SMEUR W a8 YR Sise fFa S S yoIiva & &1 | 36 9
¥12020-21 o8 & ardfas den 2021-22 99 & AN W YHR T :
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2020-21 2021-22
(Actual) (Estimated)
) )

Material Issued 75,000 1,30,000
Labour Paid 50,000 60,000
Labour Accrued 5,000 —
Plant Issued 40,000 —
Expenses Incurred 20,000 35,000
Material at Site 5,000 —
Work Certified 2,00,000 Full
Work Uncertified 7,500 —
Cash Received 1,60,000 Full

Plant Returned at Cost

15,000 (31.3.2021)

25,000 (31.12.2021)

Depreciate plant @ 20% per annum. Contract is likely to be completed on 31st

December, 2021. Prepare contract account and show your workings.

I 1 20% aTftieh <X 9 gfHd 1 §1 Sl M it ety 31 fegwr, 2021 %1 GHw

BN I TR €1 ST Wl SAEY a9 Uiehed Yeidid shiteid |

10. On what basis transfer price can be determined ? What factors should be

considered while determining the transfer price ?

TR Jod T sl R feifta foran s wehar & 2 foredt fomior oTem &1 SToem w9

for qel 1 A B T S Hehdl © 7
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11. The details regarding the composition and the weekly wages rates of labour force

engaged on a job scheduled to be completed in 30 week are as follow :

TH ITHE W R T 99 VG HI G a1 e RS < & faaeor f=
YFR §, 3 SURE & 30 Twe H g fm S W @ e fE e oo

Standards Actual

Category of

No. of Weekly Wages No. of | Weekly Wages
Workers

Workers | Rate per Worker | Workers | Rate per Worker
Skilled 75 T 60 70 X 70
Semi-skilled 45 T 40 30 % 50
Un-skilled 60 T 30 80 % 20

The job is actually completed in 32 weeks. Calculate the following Labour

Variances :

(1) Labour Cost Variance

(ii)) Labour Rate Variance

(ii1)) Labour Efficiency Variance
(iv) Labour Yield Variance

(v)  Labour Mix Variance

& TR 32 FE § 7 w0 o fean | frefafen s foeren w6t gt St

(i) &= o fa=rm
(i) #™ g fo=rm

(iii) o™ FHEcear foa=ro
(iv) o™ 3Icarea fo=ro

(v) o= Ty fa=rm
BR-705 (
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12.  What do you understand by Recovered Overheads and Actual Overheads ? How
is the difference between above treated in cost accounts when cost control system
is followed ?
a9 ford T SuieEl 9 gt Sufterdl @ o N gued § 7 o[ s @
TS # E IR & AU A SRR fRE R fE S ¥ 72 wwemsu)
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